mHoFroEH ZoARE

TEAMBROAASRTHEVKHLEI v, FPESEEOANTRINZAAI

[2/] #9%8%- 128X P4T-8

(5388

LN i e

7
/

< A t2 x B tl
s 4 Ran

O=3xA + O=4xB+t |
J? "

B 3T82v2563Y), 4THHIL | HEL2%KDH L,

hEYNEHINT,
AYB LLONSEFTEANTVSE, HifAxdl

¥IFLET,

3Xx0t2=2 4 x0+[= |

3x|12€) 4xt+t{:)
Zx2+2:=Q 4x2+|= 4
3x3+2=“ bx3t+ | =(3
Ix4t2= Lx gt F11

3*‘71—20

100 (3R i B E Ravle 30y,

220X T —F )T HiAgiE

5749,

¥nitlk 344G DN1EH
122 @ AardosnhnEd,

l|00l I]"ll
b 1T 29---- a4 fe.

12 =2 =

[5+/2xD 5100 (2 wa]

Sti2x8=/0/ ¥ V&9,
-~

g
(2| loo

Lkynfie
¥RY .

10/




Fe o ZNLEEEELT
V-3 AT, VES,




